N = 0l & At & M A

A BRI JIEHSERH SIS SEIH EXNZEEw

20159 = 20l & el
2M: EXNEE DN
M EXNEHE =5
CHel: DADIZO NHYH CERED
SA - BB B () - MM - BES Ol &t o San HmEET
EXNFEEN 2,046,019 1,450,791 595,228
= 1,704,632
< 341,387
EX =23 1,993,256 1,398,522 594,734
=2 1,704,632
< 288,624
DAMoE=EO T HHH 959,932 98,800 861,132
= 942,132
< 17,800
NEEAL AFS 900,000 0 900,000
= 900,000
201 Let24d] 7,000 0 7,000
= 7,000
1T AFR 22|l 4,000 0 4,000
OXNETH=AN E2SHE 4,000
= 4,000
03 &Ar2 I 3,000 0 3,000
OXNETHZAL MHAEE R ASde s &
a5 3,000
= 3,000
202 oddl 3,000 0 3,000
= 3,000
01 = LH o4 1l 3,000 0 3,000
OXETHZAAMY HEFA 3,000
= 3,000
308 XtXIEHHSOIA 890,000 0 890,000
= 890,000
01 HXNHHMBHELS 890,000 0 890,000
OXI & THZ= AFALS 890,000
= 890,000
ANEAS 2t M A 6,600 6,600 0
201 Yet2 | 6,600 6.600 0
01 At 22l 6,600 6,600 0
OXNFgRa M M 6,600
- FRENIZHURFTAE ML
15,000& 1508 2,250
- HESAXIL 42XE At
15,0002 » 1008 1,500
- ANE=g 4R2us ML 15,000& 705 1,050
- XN &EAMOIL Xt 15,000& 60 900
- NEMEAL ATt Z 15,000& 605 900
ENSEY Q2T 11,200 11,200 0
201 Let2dE] 10,000 10,000 0
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H EXNEE &3

D DAL= XY

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 10,000 10,000 0
OEXNHILRFN 10,000
203 YR =&t 1,200 1,200 0
03 AIZ=XH 2 =AY 1,200 1,200 0
OEXNZEZERFA 1,200
AE2e|ge =4 42,132 0 42,132
= 42,132
308 XX EHSOIA 42,132 0 42,132
= 42,132
01 IXNHHNBMNEES 42,132 0 42,132
OXHEQIA MUIA XI& 42,132
= 42,132
S2YHE=D EEIH 254,920 281,318 A 26,398
= 62,500
< 192,420
EZ2HFL SLAY 42,000 43,000 21,000
= 42,000
403 MtXISHHE A0l & 42,000 43,000 A1,000
= 42,000
01 XM A2E X 42,000 43,000 A1,000
Ot 22e E2HAIEES XA
S =2 E 60JH* 500,000 30,000
= 30,000
O3NXNFHS T HAX 22 12,000
= 12,000
S2H=A NAALY 119,800 108,380 11,420
403 XIS S X201 & 119,800 108,380 11,420
01 X SHHX2E = 119,800 108,380 11,420
Ok Zel T2HAE=S 4XAe 119,800
C2HF=A ANMEEFE 30,000 30,000 0
201 £B-2dH| 30,000 30,000 0
01 At 22/l 23,000 30,000 A7,000
OE2g=A E22 MEH 23,000
-8 Jg3s MH
2,000 #4000 =110 Al = 8,800
-el®3 L JIE 14,200
03 A2 S HI 7,000 0 7,000
OE2E =4 oelol D2l & =227 223 7,000
ERHEFA SLEEFA 36,028 75,390 A 39,362
= 20,500
< 15,528
201 Let24E] 22,183 47,700 A25,517




25 EXNAEE N
HHM: EXNAHE &=
S TRYFL HEFE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 6,655
= 15,528
01 AP 2t 2] H| 22,183 47,700 AN25,517
OEZHEZFA QU =" 22,183
= 6,655
& 15,528
308 AXIEHSOIA 13,845 27,690 N 13,845
= 13,845
01 AIXSHMENMNEX= 13,845 27,690 N 13,845
OEZHFEzEA EEFA 13,845
= 13,845
2IFAZBANAEY 2 9,496 7,912 1,584
403 XX SHHS K20 & 9,496 7,912 1,584
02 BII2SHCHSCHE AL I 9,496 7,912 1,584
OZINFAEEANAE KRIAEL & 29 9,496
C2YHFAIES2=SHHIAIY 17,596 16,636 960
403 XX SRS K20| & 17,596 16,636 960
02 2II2S0CHeCH& AL I 17,596 16,636 960
OEZHFAII2E S8 AIY 17,596
EXNAE DTS 27,565 27,565 0
SIZEXNEEANAE SAEL 27,565 27,565 0
201 gEt24y| 27,565 27,565 0
02 Z2=2=24%4| 27,565 27,565 0
OQet=2=EXNZFEAALY SIS 27,565
Z2HAEE =L 750,839 990,839 A 240,000
= 700,000
= 50,839
XNGtAIEE &atst ALY 700,000 940,000 A 240,000
= 700,000
403 XX SHHS K20 & 700,000 940,000 A 240,000
= 700,000
01 XIS A=2E X 700,000 940,000 A 240,000
OXGtAIE =X ASHAIS 700,000
= 700,000
282488 SEHAH AMAE RIES 50,839 50,839 0
201 et d| 50,839 50,839 0
02 32%H| 50,839 50,839 0
OZINZB2UAEFEESANAE RAES 50,839
HHSHAH(EXNZEE DY) 52,763 52,269 494
JlE&dl 52,763 52,269 494
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D HY2HHH(ENZEEDL)

X ZH
S =

EXEEN

¢l =gl (chel & 9l)
SA - BB B () - MM - BES Ol &t o San HmEET
JlE2&l 52,763 52,269 494

201 LBH2d| 16,853 16,359 494
01 At 2t 2l 16,853 16,359 494
OJlE=+=&Hl 6,878
OJles gl 9,975
202 O4dl 35,910 35,910 0
01 SLHAYI 35,910 35,910 0
OP RG] 35,910




